The Stuff You Need to Turn In Next Class. Name(s):

You should work with one partner if at all possible. If you do, hand in one sheet
for both of you. Also remember: WeBWorK Set Dayo8 due Monday night.

1. In each figure, for the given choice of ¢, find and draw a & interval (a vertical
strip) about 2 = 1 which satisfies the limit definition. What is 6 in each case?
Note the scale. Note: In each figure, the same § must work on both the left and
right at sides of 2 = 1.
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2. For the function f(x) below, show that that 1.5 is not lim,_,; f(x). To do this,
find and draw a horizontal ¢ interval about ¥y = 1.5 for which there is no value
of 4 that will satisfy the limit definition. (For your value of ¢, you can never trap
f(x) in the corresponding horizontal band.) What is the value of your €?
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MATH 130, DIALOGUE VIII THE PRECISE LIMIT DEFINITION 6

3.(a) With your partner use the formal definition of limit to prove the following;:

lim 6x —7 = 53.

x—10

Use the same type of careful argument that we made in class today with
absolute values, ¢, and 4. See Example 6.1.8.
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(b) Suppose I told you that ¢ = 0.06. Use your work above to tell me what 6 I z 2 0,06
should use. : §= 0ok, =, 0\

(c) Suppose I told you that ¢’ = 0.0003. Use your work above to tell me what 6 I
should use. 4
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